Village of Libertyville

Nicholas Dowden Park Flood Control Project – Phase 2

(CBBEL Project No. 20-0140)

Bid Opening: February 17, 2023 @ 10:00 AM

Base Bid	Alternate Bid	Bid Bond	Addendum <u>#1</u>	Addendum <u>#2</u>
\$ 8,243,300.00	\$ 8,389,225.00	✓	✓	✓
\$ 10,591,792.95	\$ 10,733,474.90	✓	✓	✓
\$ 9,276,810.00	\$ 9,389,060.00	✓	✓	✓
\$ 9,691,345.00	\$ 9,805,391.00	✓	✓	✓
\$ 8,811,125.00	\$ 8,914,395.00	✓	✓	✓
	\$ 8,243,300.00 \$ 10,591,792.95 \$ 9,276,810.00 \$ 9,691,345.00	\$ 8,243,300.00 \$ 8,389,225.00 \$ 10,591,792.95 \$ 10,733,474.90 \$ 9,276,810.00 \$ 9,389,060.00 \$ 9,691,345.00 \$ 9,805,391.00	\$ 8,243,300.00 \$ 8,389,225.00 ✓ \$ 10,591,792.95 \$ 10,733,474.90 ✓ \$ 9,276,810.00 \$ 9,389,060.00 ✓ \$ 9,691,345.00 \$ 9,805,391.00 ✓	Base Bid Atternate Bid Bid Bond #1 \$ 8,243,300.00 \$ 8,389,225.00 ✓ ✓ \$ 10,591,792.95 \$ 10,733,474.90 ✓ ✓ \$ 9,276,810.00 \$ 9,389,060.00 ✓ ✓ \$ 9,691,345.00 \$ 9,805,391.00 ✓ ✓

N:\LIBERTYVILLE\200140\Admin\Phase 2\Bid Results.docx

VILLAGE OF LIBERTYVILLE NICHOLAS DOWDEN PARK FLOOD CONTROL PROJECT - PHASE 2: BASE BID Bid Tab

Christopher B. Burke Engineering, Ltd. 9575 West Higgins Road, Suite 600 Rosemont, Illinois 60018 (CBBEL Project No. 20-0140) DATE: February 17, 2023

				ENGINEER'S ESTIMATE		DiMeo B	rothers, Inc.	Bolder Contractors, Inc.		Berger Excavating Contractors		Campanel	a & Sons, Inc.
CODE	ITEMS	UNIT	QUANTITY	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST
20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	UNIT	50	\$35.00	\$1,750.00	\$40.00	\$2,000.00	\$20.00	\$1,000.00	\$22.00	\$1,100.00	\$22.00	\$1,100.00
20100210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	UNIT	100	\$45.00	\$4,500.00	\$45.00	\$4,500.00	\$30.00	\$3,000.00	\$30.00	\$3,000.00	\$30.00	\$3,000.00
*20101200	TREE ROOT PRUNING	EACH	25	\$150.00	\$3,750.00	\$150.00	\$3,750.00	\$150.00	\$3,750.00	\$90.00	\$2,250.00	\$90.00	\$2,250.00
20200100	EARTH EXCAVATION	CU YD	1,500	\$40.00	\$60,000.00	\$25.00	\$37,500.00	\$34.00	\$51,000.00	\$47.00	\$70,500.00	\$65.55	\$98,325.00
20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CU YD	750	\$45.00	\$33,750.00	\$25.00	\$18,750.00	\$26.00	\$19,500.00	\$52.00	\$39,000.00	\$65.55	\$49,162.50
*20800150	TRENCH BACKFILL, SPECIAL	CU YD	15,000	\$35.00	\$525,000.00	\$10.00	\$150,000.00	\$50.00	\$750,000.00	\$61.00	\$915,000.00	\$88.25	\$1,323,750.00
21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	SQ YD	2,250	\$2.50	\$5,625.00	\$3.00	\$6,750.00	\$4.00	\$9,000.00	\$2.50	\$5,625.00	\$3.25	\$7,312.50
*21101600	TOPDRESS AND RESTORE PARKWAY DAMAGE	SQ YD	9,000	\$2.00	\$18,000.00	\$6.00	\$54,000.00	\$2.00	\$18,000.00	\$2.95	\$26,550.00	\$0.70	\$6,300.00
21101625	TOPSOIL FURNISH AND PLACE, 4"	SQ YD SQ YD	1,000	\$5.00 \$2.00	\$5,000.00	\$5.00 \$1.50	\$5,000.00	\$14.00 \$0.60	\$14,000.00 \$6,000.00	\$4.00 \$0.60	\$4,000.00	\$6.00 \$1.00	\$6,000.00 \$10,000.00
25000110	SEEDING, CLASS 1A	-	,		\$20,000.00		\$15,000.00				\$6,000.00	· · · · · · · · · · · · · · · · · · ·	
25000400		POUND	500 500	\$5.00 \$5.00	\$2,500.00	\$1.00	\$500.00 \$500.00	\$1.00 \$1.00	\$500.00 \$500.00	\$1.10	\$550.00	\$3.00 \$3.00	\$1,500.00
25000500 25000600	PHOSPHORUS FERTILIZER NUTRIENT POTASSIUM FERTILIZER NUTRIENT	POUND	500	\$5.00	\$2,500.00 \$2,500.00	\$1.00 \$1.00	\$500.00	\$1.00	\$500.00	\$1.10 \$1.10	\$550.00 \$550.00	\$3.00	\$1,500.00 \$1,500.00
25100630	EROSION CONTROL BLANKET	SQ YD	10,000	\$2.00	\$20,000.00	\$3.50	\$35,000.00	\$1.00	\$12,000.00	\$1.20	\$12,000.00	\$1.10	\$1,000.00
28000400	PERIMETER EROSION BARRIER	FOOT	250	\$3.00	\$750.00	\$3.00	\$750.00	\$8.00	\$2,000.00	\$3.00	\$750.00	\$3.40	\$850.00
*28000400	INLET FILTERS	EACH	90	\$150.00	\$13,500.00	\$165.00	\$14,850.00	\$220.00	\$19,800.00	\$220.00	\$19,800.00	\$152.00	\$13,680.00
*30300001	AGGREGATE SUBGRADE IMPROVEMENT	CU YD	750	\$130.00	\$30,000.00	\$38.00	\$28,500.00	\$48.00	\$36,000.00	\$59.00	\$44,250.00	\$95.65	\$71,737.50
35101600	AGGREGATE BASE COURSE, TYPE B 4"	SQ YD	11,250	\$5.00	\$56,250.00	\$4.00	\$45,000.00	\$48.00	\$56,250.00	\$10.25	\$115,312.50	\$10.40	\$117,000.00
35501308	HOT-MIX ASPHALT BASE COURSE, 6"	SQ YD	11,250	\$35.00	\$393,750.00	\$30.00	\$337,500.00	\$28.00	\$315,000.00	\$28.30	\$318,375.00	\$28.30	\$318,375.00
35800100	PREPARATION OF BASE	SQ YD	2,500	\$5.00	\$12,500.00	\$4.00	\$10,000.00	\$4.00	\$10,000.00	\$3.00	\$7,500.00	\$2.60	\$6,500.00
35800200	AGGREGATE BASE REPAIR	TON	225	\$50.00	\$11,250.00	\$22.00	\$4,950.00	\$46.00	\$10,350.00	\$45.00	\$10,125.00	\$56.90	\$12,802.50
40300200	BITUMINOUS MATERIALS (PRIME COAT)	POUND	25,000	\$1.00	\$25,000.00	\$0.01	\$250.00	\$0.01	\$250.00	\$0.01	\$250.00	\$0.01	\$250.00
40600400	MIXTURE FOR CRACKS, JOINTS AND FLANGEWAYS	TON	250	\$150.00	\$37,500.00	\$150.00	\$37,500.00	\$150.00	\$37,500.00	\$150.00	\$37,500.00	\$150.00	\$37,500.00
40600827	POLYMERIZED LEVELING BINDER (MACHINE METHOD), IL-4.75, N50	TON	100	\$150.00	\$15,000.00	\$103.00	\$10,300.00	\$103.00	\$10,300.00	\$103.00	\$10,300.00	\$103.00	\$10,300.00
40600827	LEVELING BINDER (MACHINE METHOD), IL 9.5mm, N50	TON	200	\$95.00	\$19,000.00	\$86.00	\$17,200.00	\$86.00	\$17,200.00	\$86.00	\$17,200.00	\$86.00	\$17,200.00
40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	4,000	\$80.00	\$320,000.00	\$74.00	\$296,000.00	\$73.50	\$294,000.00	\$73.50	\$294,000.00	\$73.50	\$294,000.00
40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	TON	3,750	\$85.00	\$318,750.00	\$82.00	\$307,500.00	\$81.00	\$303,750.00	\$81.00	\$303,750.00	\$81.00	\$303,750.00
*42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH (SPECIAL)	SQ FT	2,500	\$12.50	\$31,250.00	\$15.00	\$37,500.00	\$20.00	\$50,000.00	\$16.30	\$40,750.00	\$12.80	\$32,000.00
*42400800	DETECTABLE WARNINGS	SQ FT	750	\$40.00	\$30,000.00	\$30.00	\$22,500.00	\$32.00	\$24,000.00	\$27.00	\$20,250.00	\$30.00	\$22,500.00
*44000100	PAVEMENT REMOVAL	SQ YD	11,250	\$12.50	\$140,625.00	\$14.00	\$157,500.00	\$7.00	\$78,750.00	\$17.00	\$191,250.00	\$13.75	\$154,687.50
44000157	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	SQ YD	4,500	\$3.50	\$15,750.00	\$3.00	\$13,500.00	\$3.00	\$13,500.00	\$2.75	\$12,375.00	\$2.75	\$12,375.00
44000200	DRIVEWAY PAVEMENT REMOVAL	SQ YD	500	\$10.00	\$5,000.00	\$5.00	\$2,500.00	\$16.00	\$8,000.00	\$17.50	\$8,750.00	\$16.75	\$8,375.00
44000600	SIDEWALK REMOVAL	SQ FT	2,500	\$5.00	\$12,500.00	\$3.00	\$7,500.00	\$5.00	\$12,500.00	\$1.50	\$3,750.00	\$1.35	\$3,375.00
*44200911	CLASS B PATCHES, 6" (SPECIAL)	SQ YD	500	\$75.00	\$37,500.00	\$111.00	\$55,500.00	\$115.00	\$57,500.00	\$125.00	\$62,500.00	\$152.25	\$76,125.00
*44201723	CLASS D PATCHES, 6" (SPECIAL)	SQ YD	10,000	\$60.00	\$600,000.00	\$50.00	\$500,000.00	\$42.00	\$420,000.00	\$54.50	\$545,000.00	\$57.35	\$573,500.00
550A0340	STORM SEWERS, CLASS A, TYPE 2, 12"	FOOT	1,500	\$80.00	\$120,000.00	\$215.00	\$322,500.00	\$120.00	\$180,000.00	\$64.50	\$96,750.00	\$73.85	\$110,775.00
550A0380	STORM SEWERS, CLASS A, TYPE 2, 18"	FOOT	75	\$200.00	\$15,000.00	\$220.00	\$16,500.00	\$140.00	\$10,500.00	\$114.50	\$8,587.50	\$100.15	\$7,511.25
550A0410	STORM SEWERS, CLASS A, TYPE 2, 24"	FOOT	3,850	\$125.00	\$481,250.00	\$225.00	\$866,250.00	\$200.00	\$770,000.00	\$123.50	\$475,475.00	\$116.55	\$448,717.50
	STORM SEWERS, CLASS A, TYPE 2, 30"	FOOT	750	\$135.00	\$101,250.00	\$240.00	\$180,000.00	\$240.00	\$180,000.00	\$139.50	\$104,625.00	\$141.85	\$106,387.50
	STORM SEWERS, CLASS A, TYPE 2, 36"	FOOT	2,600	\$175.00	\$455,000.00	\$255.00	\$663,000.00	\$250.00	\$650,000.00	\$165.00	\$429,000.00	\$168.45	\$437,970.00
	STORM SEWERS, CLASS A, TYPE 2, 48"	FOOT	350	\$250.00	\$87,500.00	\$290.00	\$101,500.00	\$270.00	\$94,500.00	\$240.00	\$84,000.00	\$247.65	\$86,677.50
	STORM SEWERS, CLASS A, TYPE 2 EQUIVALENT ROUND-SIZE 42" (53"x34" RCEP)	FOOT	525	\$275.00	\$144,375.00	\$290.00	\$152,250.00	\$300.00	\$157,500.00	\$254.00	\$133,350.00	\$308.40	\$161,910.00
	STORM SEWERS, CLASS A, TYPE 2 EQUIVALENT ROUND-SIZE 48" (60"x38" RCEP)	FOOT	900	\$300.00	\$270,000.00	\$320.00	\$288,000.00	\$330.00	\$297,000.00	\$303.00	\$272,700.00	\$345.80	\$311,220.00
	STORM SEWERS, CLASS A, TYPE 2 EQUIVALENT ROUND-SIZE 54" (68"x43" RCEP)	FOOT	950	\$325.00 \$350.00	\$308,750.00	\$350.00	\$332,500.00	\$380.00	\$361,000.00	\$340.00	\$323,000.00	\$463.85	\$440,657.50
	STORM SEWERS, CLASS A, TYPE 2 EQUIVALENT ROUND-SIZE 60" (76"x48" RCEP)	FOOT	250	\$350.00	\$87,500.00	\$400.00	\$100,000.00	\$400.00	\$100,000.00	\$416.00	\$104,000.00	\$531.05	\$132,762.50
	STORM SEWERS, CLASS A, TYPE 2 EQUIVALENT ROUND-SIZE 66" (83"x53" RCEP) STORM SEWER REMOVAL	FOOT FOOT	425 3,000	\$375.00 \$10.00	\$159,375.00 \$30,000.00	\$450.00 \$5.00	\$191,250.00 \$15,000.00	\$500.00 \$20.00	\$212,500.00 \$60,000.00	\$500.00 \$45.45	\$212,500.00 \$136,350.00	\$626.50 \$40.15	\$266,262.50 \$120,450.00
	ADJUSTING WATER MAIN 6"	FOOT	3,000	\$10.00	\$15,000.00	\$5.00	\$15,000.00	\$20.00	\$60,000.00	\$45.45 \$355.00	\$136,350.00 \$35,500.00	\$40.15 \$519.50	\$120,450.00
	ADJUSTING WATER MAIN 8"	FOOT	325	\$200.00	\$65,000.00	\$245.00	\$79,625.00	\$230.00	\$87,750.00	\$405.00	\$131,625.00	\$513.15	\$166,773.75
	ADJUSTING WATER MAIN 12"	FOOT	100	\$250.00	\$25,000.00	\$265.00	\$26,500.00	\$290.00	\$29,000.00	\$555.00	\$55,500.00	\$1,003.40	\$100,340.00
	ADJUSTING WATER SERVICE LINES	FOOT	1,800	\$65.00	\$117,000.00	\$50.00	\$90,000.00	\$30.00	\$54,000.00	\$98.50	\$177,300.00	\$94.75	\$170,550.00
	CATCH BASINS, TYPE A, 4'-DIAMETER, EJ 7010 FRAME AND GRATE	EACH	28	\$3,500.00	\$98,000.00	\$7,000.00	\$196,000.00	\$3,000.00	\$84,000.00	\$4,200.00	\$117,600.00	\$4,962.00	\$138,936.00
	CATCH BASINS, TYPE C, EJ 7010 FRAME AND GRATE	EACH	46	\$2,250.00	\$103,500.00	\$3,000.00	\$138,000.00	\$2,500.00	\$115,000.00	\$2,015.00	\$92,690.00	\$2,999.35	\$137,970.10
	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	40	\$4,000.00	\$16,000.00	\$8,000.00	\$32,000.00	\$3,500.00	\$14,000.00	\$4,415.00	\$17,660.00	\$4,732.85	\$18,931.40
	MANHOLES, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	34	\$6,000.00	\$204,000.00	\$9,000.00	\$306,000.00	\$4,500.00	\$153,000.00	\$7,000.00	\$238,000.00	\$7,485.30	\$254,500.20
*60223800	MANHOLES, TYPE A, 6'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	11	\$8,000.00	\$88,000.00	\$10,000.00	\$110,000.00	\$5,000.00	\$55,000.00	\$10,300.00	\$113,300.00	\$12,375.00	\$136,125.00
		EACH	9	\$1,000.00	\$9,000.00	\$11,000.00	\$99,000.00	\$9,000.00	\$81,000.00	\$15,050.00	\$135,450.00	\$17,893.00	\$161,037.00
*60224446	IVIANHULES, I YPE A, 7 -DIAIVIETER, I YPE I FRAIVIE, CLUSED LID												
*60224446 *60224459	MANHOLES, TYPE A, 7'-DIAMETER, TYPE 1 FRAME, CLOSED LID MANHOLES, TYPE A, 8'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	8	\$12,500.00	\$100,000.00	\$16,000.00	\$128,000.00	\$10,000.00	\$80,000.00	\$19,000.00	\$152,000.00	\$24,347.00	\$194,776.00

N:\LIBERTYVILLE\200140\Civil\Spreadsheets\Phase 2\Bid Tab-Phase 2_021723 - Highlands Subd Phase 2.xlsx

Christopher B. Burke Engineering, Ltd. 9575 West Higgins Road, Suite 600 Rosemont, Illinois 60018 (CBBEL Project No. 20-0140) DATE: February 17, 2023

				ENGINEER'S ESTIMATE		DiMeo Brothers, Inc.		thers, Inc. Bolder Cor		Berger Excavating Contractors		Campane	la & Sons, Inc.
CODE	ITEMS	UNIT	QUANTITY	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST
*60224494	MANHOLES, TYPE A, 10'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	6	\$20,000.00	\$120,000.00	\$26,000.00	\$156,000.00	\$12,000.00	\$72,000.00	\$26,500.00	\$159,000.00	\$38,245.00	\$229,470.00
*60234200	INLETS, TYPE A, EJ 7010 FRAME AND LID	EACH	25	\$2,000.00	\$50,000.00	\$2,000.00	\$50,000.00	\$2,200.00	\$55,000.00	\$1,825.00	\$45,625.00	\$2,365.00	\$59,125.00
*60400105	FRAMES, TYPE 1	EACH	10	\$400.00	\$4,000.00	\$400.00	\$4,000.00	\$400.00	\$4,000.00	\$665.00	\$6,650.00	\$720.00	\$7,200.00
*60603500	COMBINATION CONCRETE CURB AND GUTTER REMOVAL AND REPLACEMENT	FOOT	5,000	\$30.00	\$150,000.00	\$50.00	\$250,000.00	\$55.00	\$275,000.00	\$56.00	\$280,000.00	\$57.50	\$287,500.00
*66900200	NON-SPECIAL WASTE DISPOSAL	CU YD	1,500	\$50.00	\$75,000.00	\$40.00	\$60,000.00	\$46.00	\$69,000.00	\$35.00	\$52,500.00	\$65.00	\$97,500.00
*66900530	SOIL DISPOSAL ANALYSIS	EACH	3	\$2,000.00	\$6,000.00	\$2,000.00	\$6,000.00	\$1,500.00	\$4,500.00	\$1,770.00	\$5,310.00	\$1,450.00	\$4,350.00
*66901001	REGULATED SUBSTANCES PRE-CONSTRUCTION PLAN	L. SUM	1	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00	\$1,800.00	\$1,800.00	\$2,400.00	\$2,400.00
*66901003	REGULATED SUBSTANCES FINAL CONSTRUCTION REPORT	L. SUM	1	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$1,265.00	\$1,265.00	\$2,000.00	\$2,000.00
*66901006	REGULATED SUBSTANCES MONITORING	CAL DAY	20	\$900.00	\$18,000.00	\$725.00	\$14,500.00	\$900.00	\$18,000.00	\$725.00	\$14,500.00	\$840.00	\$16,800.00
67100100	MOBILIZATION	L. SUM	1	\$500,000.00	\$500,000.00	\$320,000.00	\$320,000.00	\$550,000.00	\$550,000.00	\$577,300.00	\$577,300.00	\$508,000.00	\$508,000.00
*70100100	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	L. SUM	1	\$200,000.00	\$200,000.00	\$100,000.00	\$100,000.00	\$440,000.00	\$440,000.00	\$180,000.00	\$180,000.00	\$25,000.00	\$25,000.00
78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	SQ FT	50	\$15.00	\$750.00	\$6.00	\$300.00	\$20.00	\$1,000.00	\$7.00	\$350.00	\$6.00	\$300.00
78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	FOOT	2,600	\$2.00	\$5,200.00	\$2.00	\$5,200.00	\$1.50	\$3,900.00	\$2.50	\$6,500.00	\$1.50	\$3,900.00
78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	FOOT	550	\$6.00	\$3,300.00	\$6.00	\$3,300.00	\$15.00	\$8,250.00	\$10.00	\$5,500.00	\$6.00	\$3,300.00
*X0322881	TREE TRIMMING	EACH	25	\$250.00	\$6,250.00	\$300.00	\$7,500.00	\$300.00	\$7,500.00	\$90.00	\$2,250.00	\$90.00	\$2,250.00
*X0327067	DIP CASING PIPE 4"	FOOT	1,200	\$50.00	\$60,000.00	\$40.00	\$48,000.00	\$36.00	\$43,200.00	\$84.50	\$101,400.00	\$150.00	\$180,000.00
*X0327067	DIP CASING PIPE 8"	FOOT	1,000	\$75.00	\$75,000.00	\$43.00	\$43,000.00	\$40.00	\$40,000.00	\$104.75	\$104,750.00	\$150.00	\$150,000.00
*X0327067	DIP CASING PIPE 12"	FOOT	50	\$100.00	\$5,000.00	\$70.00	\$3,500.00	\$200.00	\$10,000.00	\$206.00	\$10,300.00	\$330.05	\$16,502.50
*X0327067	DIP CASING PIPE 16"	FOOT	50	\$125.00	\$6,250.00	\$118.00	\$5,900.00	\$240.00	\$12,000.00	\$355.00	\$17,750.00	\$380.40	\$19,020.00
*X1200087	JUNCTION CHAMBER NO. 1	EACH	1	\$80,000.00	\$80,000.00	\$60,000.00	\$60,000.00	\$95,000.00	\$95,000.00	\$80,000.00	\$80,000.00	\$59,000.00	\$59,000.00
*X1200214	JUNCTION CHAMBER NO. 2	EACH	1	\$75,000.00	\$75,000.00	\$60,000.00	\$60,000.00	\$95,000.00	\$95,000.00	\$78,000.00	\$78,000.00	\$58,000.00	\$58,000.00
*X4021000	TEMPORARY ACCESS (PRIVATE ENTRANCE)	EACH	250	\$100.00	\$25,000.00	\$50.00	\$12,500.00	\$1.00	\$250.00	\$175.00	\$43,750.00	\$191.00	\$47,750.00
*X4023000	TEMPORARY ACCESS (ROAD)	EACH	30	\$750.00	\$22,500.00	\$1,000.00	\$30,000.00	\$1.00	\$30.00	\$950.00	\$28,500.00	\$661.00	\$19,830.00
*Z0013798	CONSTRUCTION LAYOUT	L. SUM	1	\$75,000.00	\$75,000.00	\$21,000.00	\$21,000.00	\$40,000.00	\$40,000.00	\$56,000.00	\$56,000.00	\$35,000.00	\$35,000.00
*X0326862	STRUCTURES TO BE ADJUSTED	EACH	2	\$400.00	\$800.00	\$700.00	\$1,400.00	\$500.00	\$1,000.00	\$1,200.00	\$2,400.00	\$1,300.00	\$2,600.00
*X0326862	STRUCTURES TO BE ADJUSTED, SPECIAL	EACH	37	\$750.00	\$27,750.00	\$1,000.00	\$37,000.00	\$500.00	\$18,500.00	\$1,350.00	\$49,950.00	\$2,341.00	\$86,617.00
*X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	SQ YD	17,000	\$6.00	\$102,000.00	\$5.05	\$85,850.00	\$5.00	\$85,000.00	\$5.05	\$85,850.00	\$5.05	\$85,850.00
*Z0018700	DRAINAGE STRUCTURE TO BE REMOVED	EACH	69	\$500.00	\$34,500.00	\$500.00	\$34,500.00	\$220.00	\$15,180.00	\$455.00	\$31,395.00	\$630.00	\$43,470.00
*XX007026	FENCE REMOVAL/REPLACEMENT	FOOT	120	\$25.00	\$3,000.00	\$75.00	\$9,000.00	\$140.00	\$16,800.00	\$105.00	\$12,600.00	\$141.45	\$16,974.00
*Z0033700	LONGITUDINAL JOINT SEALANT (18" WIDE)	FOOT	3,250	\$2.00	\$6,500.00	\$4.00	\$13,000.00	\$4.00	\$13,000.00	\$4.00	\$13,000.00	\$4.00	\$13,000.00
*Z0004510	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 3"	SQ YD	200	\$60.00	\$12,000.00	\$40.00	\$8,000.00	\$80.00	\$16,000.00	\$67.00	\$13,400.00	\$100.25	\$20,050.00
*Z0055905	TEMPORARY CONSTRUCTION FENCE, 6'	FOOT	200	\$20.00	\$4,000.00	\$15.00	\$3,000.00	\$20.00	\$4,000.00	\$12.00	\$2,400.00	\$1.00	\$200.00
*Z0056668	STORM SEWERS, TYPE 2, WATER MAIN QUALITY PIPE, 12"	FOOT	375	\$125.00	\$46,875.00	\$150.00	\$56,250.00	\$200.00	\$75,000.00	\$94.00	\$35,250.00	\$123.25	\$46,218.75
*Z0056675	STORM SEWERS, TYPE 2, WATER MAIN QUALITY PIPE, 30"	FOOT	25	\$225.00	\$5,625.00	\$450.00	\$11,250.00	\$600.00	\$15,000.00	\$500.00	\$12,500.00	\$96.15	\$2,403.75
*NA	ADJUSTING SANITARY SERVICE LINE	FOOT	1,650	\$60.00	\$99,000.00	\$50.00	\$82,500.00	\$65.00	\$107,250.00	\$160.00	\$264,000.00	\$96.10	\$158,565.00
*NA	AS-BUILT DRAWINGS	L. SUM	1	\$7,500.00	\$7,500.00	\$15,000.00	\$15,000.00	\$12,000.00	\$12,000.00	\$8,500.00	\$8,500.00	\$8,500.00	\$8,500.00
*NA	BRICK DRIVEWAY PAVEMENT	SQ YD	50	\$75.00	\$3,750.00	\$20.00	\$1,000.00	\$300.00	\$15,000.00	\$140.00	\$7,000.00	\$20.00	\$1,000.00
*NA	CONTINGENCY - LANDSCAPING	DOLLAR	25,000	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
*NA	CONTINGENCY - PAVING	DOLLAR	50,000	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00
*NA	CONTINGENCY - UTILITIES	DOLLAR	75,000	\$1.00	\$75,000.00	\$1.00	\$75,000.00	\$1.00	\$75,000.00	\$1.00	\$75,000.00	\$1.00	\$75,000.00
*NA	LOCATING UNDERGROUND UTILITY	EACH	20	\$1,000.00	\$20,000.00	\$750.00	\$15,000.00	\$1,500.00	\$30,000.00	\$750.00	\$15,000.00	\$525.00	\$10,500.00
*NA	PCC DRIVEWAY PAVEMENT	SQ YD	250	\$65.00	\$16,250.00	\$100.00	\$25,000.00	\$140.00	\$35,000.00	\$115.00	\$28,750.00	\$159.40	\$39,850.00
*NA	SANITARY SEWER, 8"	FOOT	525	\$100.00	\$52,500.00	\$210.00	\$110,250.00	\$180.00	\$94,500.00	\$109.00	\$57,225.00	\$121.50	\$63,787.50
*NA	SANITARY SERVICE CONNECTION	EACH	10	\$2,500.00	\$25,000.00	\$1,100.00	\$11,000.00	\$4,000.00	\$40,000.00	\$3,100.00	\$31,000.00	\$3,150.00	\$31,500.00
*NA	SANITARY SERVICE LINE, 6"	FOOT	400	\$40.00	\$16,000.00	\$105.00	\$42,000.00	\$65.00	\$26,000.00	\$136.00	\$54,400.00	\$115.80	\$46,320.00
*NA	SANITARY SEWER REMOVAL	FOOT	575	\$10.00	\$5,750.00	\$4.00	\$2,300.00	\$20.00	\$11,500.00	\$82.00	\$47,150.00	\$4.35	\$2,501.25
*NA	SANITARY SEWER MANHOLE, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	6	\$6,500.00	\$39,000.00	\$12,500.00	\$75,000.00	\$12,000.00	\$72,000.00	\$6,300.00	\$37,800.00	\$7,480.00	\$44,880.00
*NA	SANITARY SEWER MANHOLE, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID (DROP)	EACH	1	\$25,000.00	\$25,000.00	\$16,500.00	\$16,500.00	\$20,000.00	\$20,000.00	\$23,500.00	\$23,500.00	\$22,500.00	\$22,500.00
*NA	TEMPORARY CONSTRUCTION FENCE FOR TREE PROTECTION	FOOT	1,000	\$5.00	\$5,000.00	\$4.00	\$4,000.00	\$12.00	\$12,000.00	\$5.00	\$5,000.00	\$3.00	\$3,000.00
*NA	VALVE VAULTS TO BE ADJUSTED, SPECIAL	EACH	4	\$500.00	\$2,000.00	\$800.00	\$3,200.00	\$1,200.00	\$4,800.00	\$1,200.00	\$4,800.00	\$2,665.00	\$10,660.00
			1	TOTAL =	\$8,243,300.00	a	\$8,811,125.00		\$9,276,810.00	1 · ·	\$9,691,345.00		\$10,576,917.95

HIGHLIGHTED CELLS DENOTE ERROR IN BID PRICE

VILLAGE OF LIBERTYVILLE NICHOLAS DOWDEN PARK FLOOD CONTROL PROJECT - PHASE 2: ALTERNATE BID Bid Tab

Christopher B. Burke Engineering, Ltd. 9575 West Higgins Road, Suite 600 Rosemont, Illinois 60018 (CBBEL Project No. 20-0140) DATE: February 17, 2023

				ENGINEER	S ESTIMATE	DiMeo Br	others, Inc.	Bolder Contractors, Inc.		c. Berger Excavating Contractor		rs Campanella & Sons, Inc.	
CODE	ITEMS	UNIT	QUANTITY	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST
20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	UNIT	50	\$35.00	\$1,750.00	\$40.00	\$2,000.00	\$20.00	\$1,000.00	\$22.00	\$1,100.00	\$22.00	\$1,100.00
20100210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	UNIT	100	\$45.00	\$4,500.00	\$45.00	\$4,500.00	\$30.00	\$3,000.00	\$30.00	\$3,000.00	\$30.00	\$3,000.00
*20101200	TREE ROOT PRUNING	EACH	25	\$150.00	\$3,750.00	\$150.00	\$3,750.00	\$150.00	\$3,750.00	\$90.00	\$2,250.00	\$90.00	\$2,250.00
20200100	EARTH EXCAVATION	CU YD	1,500	\$40.00	\$60,000.00	\$25.00	\$37,500.00	\$34.00	\$51,000.00	\$47.00	\$70,500.00	\$65.55	\$98,325.00
20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CU YD	750	\$45.00	\$33,750.00	\$25.00	\$18,750.00	\$26.00	\$19,500.00	\$52.00	\$39,000.00	\$65.55	\$49,162.50
*20800150	TRENCH BACKFILL, SPECIAL	CU YD	15,000	\$35.00	\$525,000.00	\$10.00	\$150,000.00	\$50.00	\$750,000.00	\$61.00	\$915,000.00	\$88.25	\$1,323,750.00
21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	SQ YD	2,250	\$2.50	\$5,625.00	\$3.00	\$6,750.00	\$4.00	\$9,000.00	\$2.50	\$5,625.00	\$3.25	\$7,312.50
*21101600	TOPDRESS AND RESTORE PARKWAY DAMAGE	SQ YD	9,000	\$2.00	\$18,000.00	\$6.00	\$54,000.00	\$2.00	\$18,000.00	\$2.95	\$26,550.00	\$0.70	\$6,300.00
21101625	TOPSOIL FURNISH AND PLACE, 4"	SQ YD	1,000	\$5.00	\$5,000.00	\$5.00	\$5,000.00	\$14.00	\$14,000.00	\$4.00	\$4,000.00	\$6.00	\$6,000.00
25000110	SEEDING, CLASS 1A	SQ YD	10,000	\$2.00	\$20,000.00	\$1.50	\$15,000.00	\$0.60	\$6,000.00	\$0.60	\$6,000.00	\$1.00	\$10,000.00
25000400	NITROGEN FERTILIZER NUTRIENT	POUND	500	\$5.00	\$2,500.00	\$1.00	\$500.00	\$1.00	\$500.00	\$1.10	\$550.00	\$3.00	\$1,500.00
25000500	PHOSPHORUS FERTILIZER NUTRIENT	POUND	500 500	\$5.00	\$2,500.00	\$1.00	\$500.00	\$1.00	\$500.00	\$1.10	\$550.00	\$3.00	\$1,500.00
25000600	POTASSIUM FERTILIZER NUTRIENT	POUND		\$5.00	\$2,500.00	\$1.00	\$500.00	\$1.00	\$500.00	\$1.10	\$550.00	\$3.00	\$1,500.00
25100630	EROSION CONTROL BLANKET	SQ YD	10,000	\$2.00	\$20,000.00	\$3.50	\$35,000.00	\$1.20	\$12,000.00	\$1.20	\$12,000.00	\$1.10	\$11,000.00
28000400 *28000510	PERIMETER EROSION BARRIER INLET FILTERS	FOOT	250 90	\$3.00 \$150.00	\$750.00 \$13,500.00	\$3.00 \$165.00	\$750.00 \$14,850.00	\$8.00 \$220.00	\$2,000.00 \$19,800.00	\$3.00 \$220.00	\$750.00 \$19,800.00	\$3.40 \$152.00	\$850.00 \$13,680.00
*30300001	AGGREGATE SUBGRADE IMPROVEMENT	CU YD	750	\$150.00	\$13,500.00	\$165.00	\$14,850.00	\$220.00	\$19,800.00	\$220.00	\$19,800.00	\$152.00	\$13,880.00
35101600	AGGREGATE SUBGRADE INFROVENIENT	SQ YD	11,250	\$5.00	\$56,250.00	\$38.00	\$45,000.00	\$48.00	\$56,250.00	\$10.25	\$115,312.50	\$10.40	\$117,000.00
35501308	HOT-MIX ASPHALT BASE COURSE, 6"	SQ YD	11,250	\$35.00	\$393,750.00	\$30.00	\$337,500.00	\$28.00	\$315,000.00	\$28.30	\$318,375.00	\$28.30	\$318,375.00
35800100	PREPARATION OF BASE	SQ YD	2,500	\$5.00	\$12,500.00	\$4.00	\$10,000.00	\$28.00	\$10,000.00	\$28.30	\$7,500.00	\$28.30	\$6,500.00
35800200	AGGREGATE BASE REPAIR	TON	2,500	\$50.00	\$11,250.00	\$22.00	\$4,950.00	\$46.00	\$10,350.00	\$45.00	\$10,125.00	\$56.90	\$12,802.50
40300200	BITUMINOUS MATERIALS (PRIME COAT)	POUND	25,000	\$1.00	\$25,000.00	\$0.01	\$250.00	\$0.01	\$250.00	\$0.01	\$250.00	\$0.01	\$250.00
40600400	MIXTURE FOR CRACKS, JOINTS AND FLANGEWAYS	TON	250	\$150.00	\$37,500.00	\$150.00	\$37,500.00	\$150.00	\$37,500.00	\$150.00	\$37,500.00	\$150.00	\$37,500.00
40600827	POLYMERIZED LEVELING BINDER (MACHINE METHOD), IL-4.75, N50	TON	100	\$150.00	\$15,000.00	\$103.00	\$10,300.00	\$103.00	\$10,300.00	\$103.00	\$10,300.00	\$103.00	\$10,300.00
40600827	LEVELING BINDER (MACHINE METHOD), IL 9.5mm, N50	TON	200	\$95.00	\$19,000.00	\$86.00	\$17,200.00	\$86.00	\$17,200.00	\$86.00	\$17,200.00	, \$86.00	\$17,200.00
40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	4,000	\$80.00	\$320,000.00	\$74.00	\$296,000.00	\$73.50	\$294,000.00	\$73.50	\$294,000.00	\$73.50	\$294,000.00
40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	TON	3,750	\$85.00	\$318,750.00	\$82.00	\$307,500.00	\$81.00	\$303,750.00	\$81.00	\$303,750.00	\$81.00	\$303,750.00
*42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH (SPECIAL)	SQ FT	2,500	\$12.50	\$31,250.00	\$15.00	\$37,500.00	\$20.00	\$50,000.00	\$16.30	\$40,750.00	\$12.80	\$32,000.00
*42400800	DETECTABLE WARNINGS	SQ FT	750	\$40.00	\$30,000.00	\$30.00	\$22,500.00	\$32.00	\$24,000.00	\$27.00	\$20,250.00	\$30.00	\$22,500.00
*44000100	PAVEMENT REMOVAL	SQ YD	11,250	\$12.50	\$140,625.00	\$14.00	\$157,500.00	\$7.00	\$78,750.00	\$17.00	\$191,250.00	\$13.75	\$154,687.50
44000157	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	SQ YD	4,500	\$3.50	\$15,750.00	\$3.00	\$13,500.00	\$3.00	\$13,500.00	\$2.75	\$12,375.00	\$2.75	\$12,375.00
44000200	DRIVEWAY PAVEMENT REMOVAL	SQ YD	500	\$10.00	\$5,000.00	\$5.00	\$2,500.00	\$16.00	\$8,000.00	\$17.50	\$8,750.00	\$16.75	\$8,375.00
44000600	SIDEWALK REMOVAL	SQ FT	2,500	\$5.00	\$12,500.00	\$3.00	\$7,500.00	\$5.00	\$12,500.00	\$1.50	\$3,750.00	\$1.35	\$3,375.00
*44200911	CLASS B PATCHES, 6" (SPECIAL)	SQ YD	500	\$75.00	\$37,500.00	\$111.00	\$55,500.00	\$115.00	\$57,500.00	\$125.00	\$62,500.00	\$152.25	\$76,125.00
*44201723	CLASS D PATCHES, 6" (SPECIAL)	SQ YD	10,000	\$60.00	\$600,000.00	\$50.00	\$500,000.00	\$42.00	\$420,000.00	\$54.50	\$545,000.00	\$57.35	\$573,500.00
550A0340	STORM SEWERS, CLASS A, TYPE 2, 12"	FOOT	1,500	\$80.00	\$120,000.00	\$215.00	\$322,500.00	\$120.00	\$180,000.00	\$64.50	\$96,750.00	\$73.85	\$110,775.00
550A0380	STORM SEWERS, CLASS A, TYPE 2, 18"	FOOT	75	\$200.00	\$15,000.00	\$220.00	\$16,500.00	\$140.00	\$10,500.00	\$114.50	\$8,587.50	\$100.15	\$7,511.25
550A0410	STORM SEWERS, CLASS A, TYPE 2, 24"	FOOT	3,850	\$125.00	\$481,250.00	\$225.00	\$866,250.00	\$200.00	\$770,000.00	\$123.50	\$475,475.00	\$116.55	\$448,717.50
550A0430	STORM SEWERS, CLASS A, TYPE 2, 30"	FOOT	750	\$135.00	\$101,250.00	\$240.00	\$180,000.00	\$240.00	\$180,000.00	\$139.50	\$104,625.00	\$141.85	\$106,387.50
550A0450	STORM SEWERS, CLASS A, TYPE 2, 36"	FOOT	2,600	\$175.00	\$455,000.00	\$255.00	\$663,000.00	\$250.00	\$650,000.00	\$165.00	\$429,000.00	\$168.45	\$437,970.00
550A0480	STORM SEWERS, CLASS A, TYPE 2, 48"	FOOT	350	\$250.00	\$87,500.00	\$290.00	\$101,500.00	\$270.00	\$94,500.00	\$240.00	\$84,000.00	\$247.65	\$86,677.50
550A5500	STORM SEWERS, CLASS A, TYPE 2 EQUIVALENT ROUND-SIZE 42" (53"x34" RCEP)	FOOT	525	\$275.00	\$144,375.00	\$290.00	\$152,250.00	\$300.00	\$157,500.00	\$254.00	\$133,350.00	\$308.40	\$161,910.00
550A5510 550A5520	STORM SEWERS, CLASS A, TYPE 2 EQUIVALENT ROUND-SIZE 48" (60"x38" RCEP)	FOOT	900 950	\$300.00 \$325.00	\$270,000.00	\$320.00 \$350.00	\$288,000.00 \$332,500.00	\$330.00 \$380.00	\$297,000.00	\$303.00 \$340.00	\$272,700.00 \$323,000.00	\$345.80 \$463.85	\$311,220.00 \$440,657.50
550A5520	STORM SEWERS, CLASS A, TYPE 2 EQUIVALENT ROUND-SIZE 54" (68"x43" RCEP) STORM SEWERS, CLASS A, TYPE 2 EQUIVALENT ROUND-SIZE 60" (76"x48" RCEP)	FOOT	250	\$350.00	\$308,750.00 \$87,500.00	\$400.00	\$100,000.00	\$400.00	\$361,000.00 \$100,000.00	\$416.00	\$104,000.00	\$531.05	\$132,762.50
550A5530	STORM SEWERS, CLASS A, TYPE 2 EQUIVALENT ROUND-SIZE 60 (70 A48 RCEP)	FOOT	425	\$375.00	\$159,375.00	\$450.00	\$191,250.00	\$500.00	\$212,500.00	\$500.00	\$212,500.00	\$626.50	\$266,262.50
*55100100	STORM SEWERS, CLASS A, TIPE 2 EQUIVALENT NOUND-SIZE 00 (85 X35 NCEP)	FOOT	3,000	\$10.00	\$139,373.00	\$5.00	\$191,230.00	\$20.00	\$60,000.00	\$45.45	\$136,350.00	\$40.15	\$120,450.00
*56100600	ADJUSTING WATER MAIN 6"	FOOT	100	\$150.00	\$15,000.00	\$225.00	\$22,500.00	\$250.00	\$25,000.00	\$355.00	\$35,500.00	\$519.50	\$51,950.00
*56100700	ADJUSTING WATER MAIN 8"	FOOT	325	\$200.00	\$65,000.00	\$245.00	\$79,625.00	\$270.00	\$87,750.00	\$405.00	\$131,625.00	\$513.15	\$166,773.75
*56100900	ADJUSTING WATER MAIN 12"	FOOT	100	\$250.00	\$25,000.00	\$265.00	\$26,500.00	\$290.00	\$29,000.00	\$555.00	\$55,500.00	\$1,003.40	\$100,340.00
*56300300	ADJUSTING WATER SERVICE LINES	FOOT	1,800	\$65.00	\$117,000.00	\$50.00	\$90,000.00	\$30.00	\$54,000.00	\$98.50	\$177,300.00	\$94.75	\$170,550.00
*60200105	CATCH BASINS, TYPE A, 4'-DIAMETER, EJ 7010 FRAME AND GRATE	EACH	28	\$3,500.00	\$98,000.00	\$7,000.00	\$196,000.00	\$3,000.00	\$84,000.00	\$4,200.00	\$117,600.00	\$4,962.00	\$138,936.00
*60207605	CATCH BASINS, TYPE C, EJ 7010 FRAME AND GRATE	EACH	46	\$2,250.00	\$103,500.00	\$3,000.00	\$138,000.00	\$2,500.00	\$115,000.00	\$2,015.00	\$92,690.00	\$2,999.35	\$137,970.10
*60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	4	\$4,000.00	\$16,000.00	\$8,000.00	\$32,000.00	\$3,500.00	\$14,000.00	\$4,415.00	\$17,660.00	\$4,732.85	\$18,931.40
*60221100	MANHOLES, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	34	\$6,000.00	\$204,000.00	\$9,000.00	\$306,000.00	\$4,500.00	\$153,000.00	\$7,000.00	\$238,000.00	\$7,485.30	\$254,500.20
*60223800	MANHOLES, TYPE A, 6'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	11	\$8,000.00	\$88,000.00	\$10,000.00	\$110,000.00	\$5,000.00	\$55,000.00	\$10,300.00	\$113,300.00	\$12,375.00	\$136,125.00
*60224446	MANHOLES, TYPE A, 7'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	9	\$1,000.00	\$9,000.00	\$11,000.00	\$99,000.00	\$9,000.00	\$81,000.00	\$15,050.00	\$135,450.00	\$17,893.00	\$161,037.00
*60224459	MANHOLES, TYPE A, 8'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	8	\$12,500.00	\$100,000.00	\$16,000.00	\$128,000.00	\$10,000.00	\$80,000.00	\$19,000.00	\$152,000.00	\$24,347.00	\$194,776.00
*60224469	MANHOLES, TYPE A, 9'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	2	\$15,000.00	\$30,000.00	\$19,000.00	\$38,000.00	\$11,000.00	\$22,000.00	\$21,050.00	\$42,100.00	\$29,500.00	\$59,000.00

N:\LIBERTYVILLE\200140\Civil\Spreadsheets\Phase 2\Bid Tab-Phase 2_021723 - Highlands Subd Phase 2.xlsx

Christopher B. Burke Engineering, Ltd. 9575 West Higgins Road, Suite 600 Rosemont, Illinois 60018 (CBBEL Project No. 20-0140) DATE: February 17, 2023

				ENGINEER'S ESTIMATE		DiMeo Brothers, Inc.		Bolder Contractors, Inc.		Berger Excava	ting Contractors	s Campanella & Sons, Inc.		
CODE	ITEMS	UNIT	QUANTITY	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	
*60224494	MANHOLES, TYPE A, 10'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	6	\$20,000.00	\$120,000.00	\$26,000.00	\$156,000.00	\$12,000.00	\$72,000.00	\$26,500.00	\$159,000.00	\$38,245.00	\$229,470.00	
*60234200	INLETS, TYPE A, EJ 7010 FRAME AND LID	EACH	25	\$2,000.00	\$50,000.00	\$2,000.00	\$50,000.00	\$2,200.00	\$55,000.00	\$1,825.00	\$45,625.00	\$2,365.00	\$59,125.00	
*60400105	FRAMES, TYPE 1	EACH	10	\$400.00	\$4,000.00	\$400.00	\$4,000.00	\$400.00	\$4,000.00	\$665.00	\$6,650.00	\$720.00	\$7,200.00	
*60603500	COMBINATION CONCRETE CURB AND GUTTER REMOVAL AND REPLACEMENT	FOOT	5,000	\$30.00	\$150,000.00	\$50.00	\$250,000.00	\$55.00	\$275,000.00	\$56.00	\$280,000.00	\$57.50	\$287,500.00	
*66900200	NON-SPECIAL WASTE DISPOSAL	CU YD	1,500	\$50.00	\$75,000.00	\$40.00	\$60,000.00	\$46.00	\$69,000.00	\$35.00	\$52,500.00	\$65.00	\$97,500.00	
*66900530	SOIL DISPOSAL ANALYSIS	EACH	3	\$2,000.00	\$6,000.00	\$2,000.00	\$6,000.00	\$1,500.00	\$4,500.00	\$1,770.00	\$5,310.00	\$1,450.00	\$4,350.00	
*66901001	REGULATED SUBSTANCES PRE-CONSTRUCTION PLAN	L. SUM	1	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00	\$1,800.00	\$1,800.00	\$2,400.00	\$2,400.00	
*66901003	REGULATED SUBSTANCES FINAL CONSTRUCTION REPORT	L. SUM	1	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$1,265.00	\$1,265.00	\$2,000.00	\$2,000.00	
*66901006	REGULATED SUBSTANCES MONITORING	CAL DAY	20	\$900.00	\$18,000.00	\$725.00	\$14,500.00	\$900.00	\$18,000.00	\$725.00	\$14,500.00	\$840.00	\$16,800.00	
67100100	MOBILIZATION	L. SUM	1	\$500,000.00	\$500,000.00	\$320,000.00	\$320,000.00	\$550,000.00	\$550,000.00	\$577,300.00	\$577,300.00	\$508,000.00	\$508,000.00	
*70100100	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	L. SUM	1	\$200,000.00	\$200,000.00	\$100,000.00	\$100,000.00	\$440,000.00	\$440,000.00	\$180,000.00	\$180,000.00	\$25,000.00	\$25,000.00	
78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	SQ FT	50	\$15.00	\$750.00	\$6.00	\$300.00	\$20.00	\$1,000.00	\$7.00	\$350.00	\$6.00	\$300.00	
78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	FOOT	2,600	\$2.00	\$5,200.00	\$2.00	\$5,200.00	\$1.50	\$3,900.00	\$2.50	\$6,500.00	\$1.50	\$3,900.00	
78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	FOOT	550	\$6.00	\$3,300.00	\$6.00	\$3,300.00	\$15.00	\$8,250.00	\$10.00	\$5,500.00	\$6.00	\$3,300.00	
*X0322881	TREE TRIMMING	EACH	25	\$250.00	\$6,250.00	\$300.00	\$7,500.00	\$300.00	\$7,500.00	\$90.00	\$2,250.00	\$90.00	\$2,250.00	
*X0327067	DIP CASING PIPE 4"	FOOT	1,200	\$50.00	\$60,000.00	\$40.00	\$48,000.00	\$36.00	\$43,200.00	\$84.50	\$101,400.00	\$150.00	\$180,000.00	
*X0327067	DIP CASING PIPE 8"	FOOT	1,000	\$75.00	\$75,000.00	\$43.00	\$43,000.00	\$40.00	\$40,000.00	\$104.75	\$104,750.00	\$150.00	\$150,000.00	
*X0327067	DIP CASING PIPE 12"	FOOT	50	\$100.00	\$5,000.00	\$70.00	\$3,500.00	\$200.00	\$10,000.00	\$206.00	\$10,300.00	\$330.05	\$16,502.50	
*X0327067	DIP CASING PIPE 16"	FOOT	50	\$125.00	\$6,250.00	\$118.00	\$5,900.00	\$240.00	\$12,000.00	\$355.00	\$17,750.00	\$380.40	\$19,020.00	
*X1200087	JUNCTION CHAMBER NO. 1	EACH	1	\$80,000.00	\$80,000.00	\$60,000.00	\$60,000.00	\$95,000.00	\$95,000.00	\$80,000.00	\$80,000.00	\$59,000.00	\$59,000.00	
*X1200214	JUNCTION CHAMBER NO. 2	EACH	1	\$75,000.00	\$75,000.00	\$60,000.00	\$60,000.00	\$95,000.00	\$95,000.00	\$78,000.00	\$78,000.00	\$58,000.00	\$58,000.00	
*X4021000	TEMPORARY ACCESS (PRIVATE ENTRANCE)	EACH	250	\$100.00	\$25,000.00	\$50.00	\$12,500.00	\$1.00	\$250.00	\$175.00	\$43,750.00	\$191.00	\$47,750.00	
*X4023000	TEMPORARY ACCESS (ROAD)	EACH	30	\$750.00	\$22,500.00	\$1,000.00	\$30,000.00	\$1.00	\$30.00	\$950.00	\$28,500.00	\$661.00	\$19,830.00	
*Z0013798	CONSTRUCTION LAYOUT	L. SUM	1	\$75,000.00	\$75,000.00	\$21,000.00	\$21,000.00	\$40,000.00	\$40,000.00	\$56,000.00	\$56,000.00	\$35,000.00	\$35,000.00	
*X0326862	STRUCTURES TO BE ADJUSTED	EACH	2	\$400.00	\$800.00	\$700.00	\$1,400.00	\$500.00	\$1,000.00	\$1,200.00	\$2,400.00	\$1,300.00	\$2,600.00	
*X0326862	STRUCTURES TO BE ADJUSTED, SPECIAL	EACH	37	\$750.00	\$27,750.00	\$1,010.00	\$37,370.00	\$500.00	\$18,500.00	\$1,350.00	\$49,950.00	\$2,341.00	\$86,617.00	
*X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	SQ YD	17,000	\$6.00	\$102,000.00	\$5.05	\$85,850.00	\$5.00	\$85,000.00	\$5.05	\$85,850.00	\$5.05	\$85,850.00	
*Z0018700	DRAINAGE STRUCTURE TO BE REMOVED	EACH	69	\$500.00	\$34,500.00	\$500.00	\$34,500.00	\$220.00	\$15,180.00	\$455.00	\$31,395.00	\$630.00	\$43,470.00	
*XX007026	FENCE REMOVAL/REPLACEMENT	FOOT	120	\$25.00	\$3,000.00	\$75.00	\$9,000.00	\$140.00	\$16,800.00	\$105.00	\$12,600.00	\$141.45	\$16,974.00	
*Z0033700	LONGITUDINAL JOINT SEALANT (18" WIDE)	FOOT	3,250	\$2.00	\$6,500.00	\$4.00	\$13,000.00	\$4.00	\$13,000.00	\$4.00	\$13,000.00	\$4.00	\$13,000.00	
*Z0004510	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 3"	SQ YD	200	\$60.00	\$12,000.00	\$40.00	\$8,000.00	\$80.00	\$16,000.00	\$67.00	\$13,400.00	\$100.25	\$20,050.00	
*Z0055905	TEMPORARY CONSTRUCTION FENCE, 6'	FOOT	200	\$20.00	\$4,000.00	\$15.00	\$3,000.00	\$20.00	\$4,000.00	\$12.00	\$2,400.00	\$1.00	\$200.00	
*Z0056668	STORM SEWERS, TYPE 2, WATER MAIN QUALITY PIPE, 12"	FOOT	375	\$125.00	\$46,875.00	\$150.00	\$56,250.00	\$200.00	\$75,000.00	\$94.00	\$35,250.00	\$123.25	\$46,218.75	
*Z0056675	STORM SEWERS, TYPE 2, WATER MAIN QUALITY PIPE, 30"	FOOT	25	\$225.00	\$5,625.00	\$450.00	\$11,250.00	\$600.00	\$15,000.00	\$500.00	\$12,500.00	\$691.15	\$17,278.75	
*NA	ADJUSTING SANITARY SERVICE LINE	FOOT	1,650	\$60.00	\$99,000.00	\$50.00	\$82,500.00	\$65.00	\$107,250.00	\$160.00	\$264,000.00	\$96.10	\$158,565.00	
*NA	AS-BUILT DRAWINGS	L. SUM	1	\$7,500.00	\$7,500.00	\$15,000.00	\$15,000.00	\$12,000.00	\$12,000.00	\$8,500.00	\$8,500.00	\$8,500.00	\$8,500.00	
*NA	BRICK DRIVEWAY PAVEMENT	SQ YD	50	\$75.00	\$3,750.00	\$20.00	\$1,000.00	\$300.00	\$15,000.00	\$140.00	\$7,000.00	\$20.00	\$1,000.00	
*NA	CURED-IN-PLACE PIPE LINING, 36"	FOOT	449	\$325.00	\$145,925.00	\$230.00	\$103,270.00	\$250.00	\$112,250.00	\$254.00	\$114,046.00	\$315.55	\$141,681.95	
*NA	CONTINGENCY - LANDSCAPING	DOLLAR	25,000	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	
*NA	CONTINGENCY - PAVING	DOLLAR	50,000	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	
*NA	CONTINGENCY - UTILITIES	DOLLAR	75,000	\$1.00	\$75,000.00	\$1.00	\$75,000.00	\$1.00	\$75,000.00	\$1.00	\$75,000.00	\$1.00	\$75,000.00	
*NA	LOCATING UNDERGROUND UTILITY	EACH	20	\$1,000.00	\$20,000.00	\$750.00	\$15,000.00	\$1,500.00	\$30,000.00	\$750.00	\$15,000.00	\$525.00	\$10,500.00	
*NA	PCC DRIVEWAY PAVEMENT	SQ YD	250	\$65.00	\$16,250.00	\$100.00	\$25,000.00	\$140.00	\$35,000.00	\$115.00	\$28,750.00	\$159.40	\$39,850.00	
*NA	SANITARY SEWER, 8"	FOOT	525	\$100.00	\$52,500.00	\$210.00	\$110,250.00	\$180.00	\$94,500.00	\$109.00	\$57,225.00	\$121.50	\$63,787.50	
*NA	SANITARY SERVICE CONNECTION	EACH	10	\$2,500.00	\$25,000.00	\$1,100.00	\$11,000.00	\$4,000.00	\$40,000.00	\$3,100.00	\$31,000.00	\$3,150.00	\$31,500.00	
*NA	SANITARY SERVICE LINE, 6"	FOOT	400	\$40.00	\$16,000.00	\$105.00	\$42,000.00	\$65.00	\$26,000.00	\$136.00	\$54,400.00	\$115.80	\$46,320.00	
*NA	SANITARY SEWER REMOVAL	FOOT	575	\$10.00	\$5,750.00	\$4.00	\$2,300.00	\$20.00	\$11,500.00	\$82.00	\$47,150.00	\$4.35	\$2,501.25	
*NA	SANITARY SEWER MANHOLE, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	6	\$6,500.00	\$39,000.00	\$12,500.00	\$75,000.00	\$12,000.00	\$72,000.00	\$6,300.00	\$37,800.00	\$7,480.00	\$44,880.00	
*NA	SANITARY SEWER MANHOLE, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID (DROP)	EACH	1	\$25,000.00	\$25,000.00	\$16,500.00	\$16,500.00	\$20,000.00	\$20,000.00	\$23,500.00	\$23,500.00	\$22,500.00	\$22,500.00	
*NA	TEMPORARY CONSTRUCTION FENCE FOR TREE PROTECTION	FOOT	1,000	\$5.00	\$5,000.00	\$4.00	\$4,000.00	\$12.00	\$12,000.00	\$5.00	\$5,000.00	\$3.00	\$3,000.00	
*NA	VALVE VAULTS TO BE ADJUSTED, SPECIAL	EACH	4	\$500.00	\$2,000.00	\$800.00	\$3,200.00	\$1,200.00	\$4,800.00	\$1,200.00	\$4,800.00	\$2,665.00	\$10,660.00	
110	There moets to be holdstep, of edite	LACIT	-	\$300.00	Y2,000.00	2000.00	<i>40,200.00</i>	Y1,200.00	,000.00	γ1,200.00	,000.00	,505.00	÷±0,000.00	

**ALTERNATE BID IS BASE BID + 36" STORM SEWER LINING.

HIGHLIGHTED CELLS DENOTE ERROR IN BID PRICE